H & 0l & AHS B Ml A

M SAIHE D
A CAZRIAE 2 N (SELXFNL /KL EAI)

R EAIZEIAHE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A= 7,718,563 6,403,970 1,314,593
= 500,000
Al 7,218,563
SAZE|HE L N (FELXGNL/RHLEAI) 7,648,850 6,321,415 1,327,435
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OMEDHEAIY RN & S B
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207 ARl 300,000 300,000
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M2ALHH 2el2E 8,250 9,150 2900
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S AIHIE D

A CAIZRIHE U OHL(RELT AL/ X HLETA)
Selr TAZ2 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o AEe OI0IXNIE e HAILH =Al2e
1,000,000 %14 1,000
o AIAE L A2 SEXE=E A2
500,000 +3& 1,500
Z&AEe 2E 27,670 35,990 8,320
201 2= 26,710 356,030 A8,320
01 At22t2lt] 26,710 356,030 28,320
Oget=ZHI 1,780
oA S A S & 22 7Y
750,000 *14] 750
ogdd & LA 23 =5 7Y
1,000,000 *14] 1,000
Oo=2g=g 24,960
oda & ZSBLIAL fIA 24,960
- &g 100,000& x212 %102 21,000
— 04| 110,000 «3& *123] 3,960
202 04| 960 960
01 =LHOHI 960 960
OB METH BHFA
20,0002 x2H #2312 960
cazY S ZaIY| 70,000 80,000 210,000
401 Al&EI L 2 HE] 70,000 80,000 A10,000
01 A&l 70,000 79,280 £9,280
OSASY 3t o =5 S 22 Fy|
70,000,000& x 14 70,000
2 CIAe! eroiel Z8AE 150,000 150,000 0
401 Al HIZ S OHbI 150,000 150,000
01 A28l 148,920 148,920
Oetd CIXel otalAel =4
150,000,000 *99.28/100 148,920
03 Al 20HHI 1,080 1,080 0
Otd U ereiel =4
150,000,000& *0.72/100 1,080
Oi==Al B2 D=3 At (2XH2) 97,000 97,000
207 ARl 97,000 97,000
01 g S| 97,000 97,000
OZ2 IS5t M & IB7= E9(2XE)
97,000,000 » 14! 97,000
SN =8 3 UM 20,000 20,000 0
401 AlZHIZ 20 20,000 20,000 0
01 Al&HI 20,000 19,784 216
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DAFEAESOIS Oldl FAbH el ZEAL 50,000 50,000
401 AIEHIX 20HH 50,000 50,000
01 A28l 49,460 49,460
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50,000,000& +98.92/100 49,460
03 Al 20HHI 540 0 540
OLUAMAIH0E Ol=dl HA el &4
50,000,000& *1.08/100 540
OHOrNS SSAHNAIE LIl AL 100,000 100,000
401 A& HIX R0 100,000 100,000
01 AlZH| 99,100 99,100
OdliotXIS SZAHEAIE Tl AL
100,000,000 %99.1/100 99,100
03 Al 20HHI 900 0 900
OolietXIS SSAHEAIE CIARL AL
100,000, 000& *0.9/100 900
HEsS oty 73t SZ 3l At 100,000 100,000
401 AIEHIL L] 100,000 100,000
01 Al&H| 99,100 9,100
OOES o7 BEFY)
100,000,000 +99.1/100 99,100
03 Al 2CHb 900 0 900
OOIFE ota7I2t BEFY|
100,000, 000& *0.9/100 900
w2 Z2HE At 30,000 30,000
401 AlEHIZL SO 30,000 30,000
01 Al&H| 30,000 30,000
Oz S At
30,000,000& » 14 30,000
Neta 2letd 288 €XR 6,361,980 5,827,375 534,605
[ 500,000
Al 5,861,980
ZEANE X2 3,461,980 1,530,428 1,931,552
201 et 3| 3,294,040 1,435,428 1,858,612
01 Al 22IH| 32,040 30,480 1,560
OTRFYES HLI| MIINHFY 448
57,0002 52004 2 29,640
OdJetd el a2
200,000 #1042+ 123 2,400
02 S3=gHl 3,262,000 1,404,948 1,857,052
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
cERXYUS MII23
1,300,000,000& » 14 1,300,000
oSS 2oS @IS
700,000,000 *14] 700,000
STBEY T3
200,000,000& *14] 200,000
o2LES SR=
27,000,000 x 14 27,000
OAIZ2 &= X 1,035,000
SIIRE U BUS AlME B2l ALY R
Xl2el 25,000,000 *14! 25,000
oSS BoS SN2
1,000,000, 0003 » 14 1,000,000
CABXY HEST2IY SRR
10,000,000 * 14 10,000
202 04| 2,940 2,940
01 =LHOHI 2,940 2,940
OAL&eHolix~ 2HS EX HHEEA
20,0003 x2Hx22 « 12 960
OO0FtB 2 HAIE HIXI0H 04|
110,000 *3Z +32 #2353 1,980
206 MH=H| 165,000 95,000 70,000
01 M=4l 165,000 95,000 70,000
OE2XHS X228 M (D]
s) 70,000,000& * 14! 70,000
OIS SNRRIE I 2Y(SI7 S)
15,000,000 * 14| 15,000
OFVEY RAT L SXB2IFH 7Y
80,000,000& » 14 80,000
JIZHe 12 ues £HS &l 1,000,000 0 1,000,000
[ 500,000
Al 500,000
401 Al HIZL R 0HbI 1,000,000 0 1,000,000
= 500,000
Al 500,000
01 Al&HI 1,000,000 0 1,000,000
OO ==Al &S & 1Is8 £ES WAl
1,000,000, 0003 » 14 1,000,000
= 500,000
Al 500,000
02601 =MAH S &2 =2 A0IE £2ES £X 300,000 300,000
401 Al HIZ S 0HbI 300,000 300,000
01 A28l 297,840 297,840
O20260 =HMIAH S 3] 2 TAXS A
EXEE £X(1XEE)
300,000,0008%99.28/100 297,840
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SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
03 AIEE0HHI 2,160 0 2,160
Q20260 =M H L Er2ts| 23 SA XS ADH
EXYE AX(IXEE)
300,000,000 %0.72/100 2,160
s 2 D& XHS | 950,000 750,000 200,000
401 AIEHILE0HY] 950,000 730,000 220,000
01 Al&H| 943,034 724,744 218,290
OE22XYsE A B
140,000& *1,5005*99.28/100 208,488
OLZ Jt12sSJ|7 1AM
200,000,0002%99.28/100 198,560
OLZ JIZEZF LA
200,000,0002%99.28/100 198,560
OkL=Z Jigs EY9)| WXl
6,000,000 *20JH 2~*99.28/100 119,136
OEREHE OHEEY X4 B
1,000,000 *15071 A *99.28/100 148,920
QUEAMND KEXNE JIZ2E EH|
2,500,000& *285+99.1/100 69,370
03 A& 20HYI 6,966 5,256 1,710
OEz2XYs A B
140,000 *1,5005+0.72/100 1,512
OL& Jt27|7 WH
200,000,000 %0.72/100 1,440
OLs JIIREZ WA
200,000,000 %0.72/100 1,440
OkL=Z Ji2s 9D WXl
6,000,000 +2001 2A+0.72/100 864
OEREHE OHEEY X4 B
1,000,000 *1500H 2~ +0.72/100 1,080
QUEAMND KEXNSE JIZ2E EH|
2,500,0002! *285+0.9/100 630
HotE MM 2 5 Hots AH| 450,000 450,000 0
401 AlEH|ILLC0HH] 450,000 450,000
01 Al&H| 446,760 446,760
OSHE 2ot AX|
1,000,000& *3155%99.28/100 312,732
OENXY 2ots &X|
1,350,000 *1005+99.28/100 134,028
03 Al 20HYI 3,240 3,240 0
OS8s 2ots A
1,000,0002 *3155+0.72/100 2,268
OENXY Bots AX|
1,350,000 *100S+0.72/100 972
LS H2aAXHEE MY 200,000 505,000 305,000
401 A& HILE0HY] 200,000 200,000 0
01 Al&HI 198,560 198,560 0
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEECIENETIEEY
200,000,0002%99.28/100 198,560
03 AIZSTHYI 1,440 1,440 0
OZ&axd FA2cd 2+
200,000,000& +0.72/100 1,440
HY2AIHI(SAIAHE D) (OIEH/DIE 69,713 82,555 A12,842
el 2| 16,318 15,531 787
el 2dd| 16,318 15,531 787
101 @124H| 16,318 15,531 787
03 SRH(RINHA) 222+ 16,318 15,531 787
OAlteI22+E
15, 1092 +3H+20A| 2H+ 12 x150% 16,318
Jl=23sl 53,39% 67,024 213,629
JI23Hl 53,39% 67,024 213,629
201 =3 33,668 43,924 10,256
01 At22t2lt] 29,687 39,500 29,813
Ogt=ZH| SUA&
10,377,000 * 14| 10,377
O2g+g SUALY(NSARE])
100,000 x102H+33] 3,000
OSgtl S99 16,310,000 x 14 16,310
02 s3=gHl 3,981 4,424 A443
OXtg - &EH 3,981
o7 1,400&*1,3002| &4 1,820
o XS XA 480,000 * 1 480
oXtg=elidl, LY WE, Mt S
1,681,000& *14] 1,681
202 04| 8,927 12,300 A3,373
01 =LHOLI 8,927 12,300 A3,373
ORA2g 2 8,927,000 + 14 8,927
203 HR=H] 10,800 10,800
01 J|2=2gegR=a] 6,000 6,000
OAdEuS=% 6,000,000& 6,000
MU A2 LRFEI 4,800 4,800 0
OZAIH & 1H(29F) 400,000+ 122 4,800




